bSA7AO2HEZE[TE

BIKE AFIWLWMmEZT —IL2ME RUN #&5EENs SWIM AWUMmEZT =)L 88 (FKLE
48 58 64 78 8H 9A

=Fp) L= BH1{t| BEH =Fp L= =Fp) L] =Fp L= =Ep| L=

1 |A 1 7K |BIKE 1 + 1 A 1 N 1 H

2 |X 2 A |RUN 2 H 2 N 2 i 2 A

3 |k BIKE 3 & |FEEELEH 3 )= 3 7K |BIKE 3 + 3 N

4 K RUN 4 * 4 N 4 A |RUN 4 H 4 7K |BIKE
5 |& SWIM 5 H |F#oH 5 7K |BIKE 5 % |SWIM 5 A 5 A |RUN
6 |t 6 | A |IR&HAHE 6 | A |RUN 6 | & 6 | X 6 | & |SWIM
7 |H 7 N 7 % |SWIM 7 H 7 7K 7 +

8 |A 8 7K |BIKE 8 T 8 A 8 N 8 H |wmwrorzor
9 |X 9 A |RUN 9 H 9 N 9 & 9 A

10 |7K BIKE 10 % |SWIM 10 H 10 | 7K |BIKE 10 + 10 PN

11 | K RUN 11 * 11 N 11 A |RUN 11 H 11 7K |BIKE
12 |& SWIM 12 H 12 | 7K |BIKE 12 % |SWIM 12 =l l11[p]=| 12 | K |RUN
13 |+ 131 A 13| &K |RUN 13 ] L 13| X 13| & |SWIM
14 |H 14| X 14| € |SWIM 14 H 14| XK 14| L

15 |A 15| 7K |BIKE 15| L 15| A |'soH 15| K 15 H

16 |X 16 | K |RUN 16 | H 16 | X 16 | & 16 | A

17 K BIKE 17 % |SWIM 17 H 17 | 7K |BIKE 17 + 17 PN

18 | & RUN 18 L 18| X 18 | K |RUN 18 H 18 | 7K |BIKE
19 |& SWIM 19 H 19 | /K |BIKE 19| & |SWIM 19| A 19 | K |RUN
20 |t 20| H 20 | K JRUN 20| 20| X 20| & |SWIM
21 |H 21 N 21 % |SWIM 21 H 21 7K 21 *

22 |A 22 | 7K |BIKE 22| 22| H 22 | K 22 H

23 | N 23| A& |RUN 23 H 23 | X 23| € 23| H

24 |K BIKE 24| € |SWIM 24| H 24 | K |BIKE 24| 24| N

25 |K RUN 25| 25| X 25 ] &K |RUN 25 H 25| /K |BIKE
26 |& SWIM 26 H 26 | 7K |BIKE 26 | & |SWIM 26 | H 26 | A& |RUN
27 | 27 | H 27 | K JRUN 27| 27 | X 27 | & |SWIM
28 |H 28| X 28 | € |SWIM 28 H 28 | K 28|

29 |B BEF0DH 29 | 7K |BIKE 29 | £ |m#rsc7zo> |29 | B 29 | K 29| H

30 | N 30 | A& |RUN 30| B |rErsc7zo> |30 | N 30| & 30| A

31 % |SWIM 31 7K |BIKE 31 T




NS 7 AO>BEEMFE
BIKE AFWMmET —IL2ME RUN #&iEs8h5 SWIM ARUMmEZT =)L
104 118 12H 1A 2R 3H

H{d| R H{|1EH" H{|iEH" H{T|#EH H{|iEH™ Ht|EH

i 1 |& |SWIM 1 |8 1 Pk |=B 1 | 1 |x

2 | & |BIKE 2 | 2 |8 2 K 2 |= 2 |=

3 | & |[RUN 3 |E 3 |N 3 |& 3 |A 3 |R

4 | £ |SWIM 4 |HB 4 |k |BIKE 4 | 4 |X 4 |N

5| 5 |X 5 |&< |RUN 5 |H 5 |« [BIKE 5 |k |BIKE
6 | H 6 |’k |BIKE 6 |& |[SWIM 6 |B 6 |< |RUN 6 |A&A |RUN
7| B 7 |&< |RUN 7 | 7 X 7 |& [SwIM 7 |& |SwWIM
8 | X 8 |& |[swIM 8 |8 8 |k |BIKE 8 |t 8 |t

9 | /X |BIKE 9 |x 9 |B 9 |&< |RUN 9 |H 9 |8

10 | & |RUN 10 |E 10 | X 10 |& [SWIM 10 |8 10 |H

11| € |SWIM 11 |8 11 |’k |BIKE 11 |+ 11 [N |EBEESE |11 | X

12 = 12 | & 12 |’ |RUN 12 |52 12 |’k |BIKE 12 |’k |BIKE
13| H 13 |’k |BIKE 13 |& |SWIM 13 |8 |mADE 13 |’ |RUN 13 | |RUN
14| B |=R—wvoBR [14 |&x |[RUN 14 |+ 14 | X 14 |&£ |SWIM 14 |& |[SWIM
15 X 15 [& |SWIM 15 |H 15 |7k |BIKE 15 |+ 15 |t

16 | /K |BIKE 16 | 16 |8 16 |< |RUN 16 |H 16 |H

17 | & |RUN 17 |2 17 | N 17 |& [SWIM 17 |8 17 |8

18| € |SWIM 18 |HB 18 |k |BIKE 18 |+ 18 | N 18 | X

19 = 19 | X 19 |’k |RUN 19 |82 19 |k |BIKE 19 |’k |BIKE
20| H 20 |7’k |BIKE 20 |& |SWIM 20 |8 20 |< |RUN 20 |A& |EHOH
21| B 21 |KX |RUN 21 |+ 21 | X 21 |& |SWIM 21 |& |SWIM
22| X 22 |& [SWIM 22 |H 22 |k |BIKE 22 |t 22 |+

23 | /& |BIKE 23 |t 23 |H 23 |&A |RUN 23 |BH |XEf&EH |23 |H

24 | & |RUN 24 |H 24 | X 24 |€ |SWIM 24 |B  |iIREARE 24 |8

25 | & |SWIM 25 |8 25 |k |BIKE 25 [+ 25 | X 25 | X

26| = 26 | X 26 |< |RUN 26 |H 26 |’k |BIKE 26 |7k |BIKE
27| B 27 |’k |BIKE 27 |& |SWIM 27 |B 27 |< |RUN 27 |&X |RUN
28| B 28 |&< |RUN 28 |+ 28 | N 28 |& |SWIM 28 |£ |SWIM
29 | X 29 |& |[SWIM 29 |8 29 |7k |BIKE 29 |+

30 | /K |BIKE 30 | 30 |H 30 | |RUN 30 |H

31| & |RUN 31 |N 31 |£& |SWIM 31 |8




